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Linear Equations using the TI 89.
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The exercises in this activity are designed to help you develop strategies for solving equations. In order to keep the equation balanced we must “DO THE SAME TO BOTH SIDES” (DSBS). Just like a see saw when both sides are equal the equation is balanced. To keep the balance, what we do to one side must also be done to the other side.

With the TI 89 you can quickly try different operations and see what effect they have. 

You need to know how to get to the home screen by pressing the Diamond key then the Home key.

The F2 key contains a number of functions that help with more complicated problems.

Pressing F6 (2ND F1) gives a menu that clears the display line or set up a new problem.

Pressing F1 and option 8 clears the history display screen.

To enter a new problem simply type it into the entry line and press ENTER.

Enter the equation:


3x + 1 = x +17 and press enter. 

 The function remains on the entry line and the result of the last entry appears here.  

The next option would be to subtract x from both sides so that there is an x on one side of the equal sign only. 

Press ( and x then ENTER. The calculator automatically places the last answer on the entry line and subtracts x from both sides.        


The equation now reads:

2x + 1 =17

To get the x part of the expression on its own you must now subtract the 1 from both sides. Press ( and 1 then ENTER. The calculator subtracts 1 from both sides and displays the new equation:

2x = 16

In order to find the value of a single x term you must divide both sides by 2.

Press ( then 2 and ENTER.

The answer displayed in the result line is the solution for x.

X = 8

Exercises to try.

Use the calculator to solve these equations. Write the steps you are taking and the result line the calculator displays each time you take a new step.

	Problem
	Proposed step
	Calculator display

	a) 3x ( 5 = 4

b)  4a ( 2 = 6
	
	

	Problem
	Proposed step
	Calculator display

	c)  3 + 5y = 23

d)   27 = 8x ( 5

e)   2 ( y = 14

f)   ( 5m = 35

g)  
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i)   5 + x = 2x (1

 
	
	

	Problem
	Proposed step
	Calculator display

	j)   3x ( 1 = (x

k)   8x +17 = 20

l)   5 + x = 2x ( 1

m)   
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	These questions may need the use of the “expand” command.

	n)   27 = 3 (8x ( 5)

o)   
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p)   5 ( x = 3 (2x ( 1) + x
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